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Instructions:
1) Start each question on fresh page.
2) Figures to the right indicate maximum marks.

3) Non-scientific, non-programmabie calculators are allowed
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Answer the following
A. Prepare a cumulative frequency distribution table for the

following distribution. Also

state the num

ber of individuals

with income less than 15000

and more than 20000

Monthly 1000- | 5000- | 10000- 150G0- | 20000-
income in | 5000 | 10000 15000 | 20000 125000
Rs '

No. of 45 19 16 02 05
Lgdividuals l
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Out of the two bar graphs provided below, one shows the
amounts (in Lakh Rs.) invested by a Company in
purchasing raw naterials over the years and the other
shows the values (in Lakh Rs.) of finished goods sold by
the Company over the years.

Analyze the graphs and answer the questions given below
i, What was the difference between the average
amount invested in Raw materials during the
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Q1 Answer the following

-

given period and the average value of sales of

linished goods during this period?

The maximum difference between the amount
invested in Raw materials and value of sales of

finished goods was during the year?

OR

X Draw a less than ogive for the data given below related
to income of various women entrepreneurs in last
quarter. Analyze the graph drawn in your own words.

Income in thousand Rs

No. of women

Entrepreneurs

0-15 2

15-30 4
30-45 5
45-60 17
60-75 39
75-90 54
90-105 70

Y Write short notes on:

1.

i,

Q2. Answer the following

Primary survey and secondary survey using

suitable examples,

One dimensional diagram and two-

dimensional diagrams
Parts of table

A. State whether the following lines are intersecting,
parallel or coincident. Justify your answer,

2x+3y=5 and 6x-2y+4=0

B. Solve the following simultaneous equations by

substitution method
4x+5y=7 and 3x-y+9=0

C. South Goa district library has a fixed charge for
the first 10 days and an additional charge for each
day thereafter. Tricia paid Rs.50 for a book kept
for fourteen days, while Susy paid Rs.83 for the
book she kept for seventeen days. Find the fixed
charge and the charge for each extra day.

OR

Roll. No
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Q3

" A bakery produces a certain number 0

Answer the following
Find the roots of the following equations by factorization
method:
i, 9x2-12x-5=0 i, 15x*+52x-+45=0
fbreads in a day. 1
was observed on a particular day that the cosl of
production of each bread (in rupees) was 3 morc than
twice the number of breads produced on that day. If the
total cost of production on thal day was Rs.90, find the

number of breads made and the cost of cach bread.

Answer the following
TATA tea Estatc began production last year, it produced
8000 cartons of tea, it is projected that production will

increcase by 50 cartons cach ycar. ]
.. Determine the production in the 5™ and 9" year
b. Determine whether the production will ever rcach
32500 cartons of tea.
If the 5™ term and 12" term of an Arithmetic Progression

are 30 and 65 respectively, find the sum of its 20 terms.
OR

Answer the following
The US government decides on a tax-rebate program to

stimulate the economy. Suppose Emily receives $900
and she spends 80% of this. Those people who receive
what Emily spent also spend 80% of what they get and
those receiving this spend, spend 80% and so on.
Calculate how much the 10" person spends. Also find
{otal amount spent, is this process continues without end.
Find the general expression of sum of the sequence 6/10,
6/100, 6/1000,.. to n terms. Hence find the sum when,

n=10

Answer the following _
Salaries of Ravi and Sumit are in the ratio 2:3. [i'the

salary of each is increased by Rs4000, the new ratio
tecomes 40:57. Determine is Sumit’s salary.

Divide 356 in the ratio 2:3 and 4:5. . :

Find % if 0.75:x :: 5:8. Also find fourth proportional (o

5,8,15
OR

Roll. No. _
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Q2.

given period and the average value ol sales ol

finished goods dur

in. The maximum ditterence between the amount
invested in Raw matenals and value of sales ol

g this penod?

finished goods was during the yea”

OR

the first 10 days and an additional charge for cach
day thereafter. Tricia paid Rs.50 for a book kept

Answer the following
X Draw a less than ogive for the data given below related
to income of various women entrepreneurs in last
quarter_Analyze the graph diawn in vour own word:
Income in thousand Rs No. ol'women
B Lntreprencurs
0-15 2
15-30 1
_304s  f S
4560 | 17
60-75 30
75-90 - 54
90-105 0
Y Write short notes on:
1. Primary survey and secondary survey using
suitable examples,
I, One dimensional diagram and two-
dimensional diagrams
fil. Parts of table
Answer the following
A. State whether the following lines are intersecting,
parallel or coincident. Justity your inawey
2x+3y=5 and 6x-2y+4=0
B. Solve the following simultaneous equations by
substitution method
4x+5y=7 and 3x-y+9=0
C. South Goa district library has a fixed charge for

for fourteen days, while Susy paid Rs.83 for the
YT

book she kept for seventeen days. Find the fixed

charge and the charge for each extra day.

OR
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